WORK SHEET FOR CALCULATION OF . .. s PRESSURE {Pc or Pw) rORM C-122F
FROM KNOWN BOTTOM HOLE PRESSURE (Pf or Ps)

COMPANY PENWELL ENERGY LEASE :F.H. STATEWELL NO. : 1 DATE 3/17/97
UNIT € GECTION : 28 THNSHP : 23 RANGE : 26
L 10040 Hi: 10040 L/H : 1 G6/GMIX ¢ 0.5430
02 0.4 N2 0.8 HZ5 :
BH ¢+ 6433.7 PCR 1 673 TCR @ 368
LINE H 2 3 4 3 & 7 g
1 TW{W.H, R) : 334 334 I3 334 | 334 334 334 334
2, Ts{B.H. R) ;6344 1 344 63440 R340 L &344 ) 63440 6344 6344
3 T=(TutTs/2) | 584.,2 ) 584,2 ) 584,27 5B4.2 ¢ 5842 38420 0B4.2 T 5B4.2
4 1 (EST.} ;i 0.8 0.803, ERR ; ERR | ERR | ERR [ ERR |  ERR
31 Tl : 361 4 4791 ERR | ERR | ERR | ERR ,  ERR | ERR
b1 GH/TI . i2.887 7 11,733, ERR | ERR [ ERR [ ERR ; ERR |  ERK
7. eS(TABLE XIV} ¢ LA21F 1474 ERR | ERR | ERR | ERR { ERR | ERR
8 Pt or Ps 1 2145.9 0 21439, 0 ¢ 0 0 0 0
AN Pf2 or Ps2 i 4596.3 ¢ 4594.3 0.0 1 0.9 4 0.0 ] 0.0 1 0.0 1 0.0
16 | Pc2=Pf/eS or Pw2=PsZ/eS; 2834.9 | 2746.2 [ ERR | ERR | ERR [ ERR [ ERR [ ERR
i1 Pc or Pw : 1684 | 1657, ERR | ERR | ERR | ERR [ ERR |  ERH
12 | P={PwtPs/2)or(Fc+Pi/2} | 1914 7 {981} ERR | ERR | ERR | ERR | ERR [  ERR
13 Pr=(P/Pcr) i 2,84} 2,82, ERR , ERR | ERR | ERR | ERK |  ERR
14 ] Tr(T/Tcr) o L3 159 1.5% 4 159 1.59 § 1,59 ¢ 1.59 | 1.59
13 1 {TABLE 1) . Men: . 0,805 ERR | ERR ! ERR |  ERRK | ERR ERR
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